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BCM SCHOOL, BASANT AVENUE, DUGRI ROAD, LUDHIANA.
OCTOBER ASSIGNMENT (ANSWER KEY)
CLASS- IV (MATHEMATICS)
TOPIC: METRIC MEASURES

c) capacity
c) 1000
c)cm
b) 500
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5. 400 kg 600 g + 580 kg 450 g = 981 kg 50 g ( show calculation)

6. 400 km 500 m = 4,00,500 m (show conversion)

7. 300¢=300 x 1000 m¢ = 3,00,000 m¢ (show conversion)

8. 600¢-345¢700 m¢ =254 ¢201 m¢ ( show calculation)
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a) 9075gintokg=9kg75g

b) 45678 m¢ into¢=45¢ 678 m¢
c) 2450 cmintom=24 m50cm
d) 56 km 400 m = 56400 m

10. Total Distance travelled= 18km 260m + 2km
= 20km 260m
Distance travelled by auto rickshaw= 26km 350m — 20km 260m
= 6km 90m
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